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1. Jacobill

JacobiOOOOOO Azxz=0b0

apnry =by—( 0 Haprs+---+ar,)

Ao =by — (agrr + 0+ +agx,)

U@ =by — (ap1T1 +apoza+--++ 0 )
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20 .=0000000 ;
k:=0;
repeat
for i :=1 to n do
i—1 n
I,Ek+1) = bz — Zazjzzzgk) - Z aijx§k) /aii S (*)
j=1 j=i+1

k=k+1;
until (000O0) ;
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oy =1
{w: Y= 00OoDo JacohiDODOOODO(x) O

r+3y=4

1
Oz=3(1+2x0y)
1

Oy=-4-0 x)
3
0000
Step 0 : & = ( 0.00000, 0.00000 )
Step 1 : x = ( 0.33333, 1.33333 )
Step 2 : = = (1.22222, 1.22222 )
Step 3 : x = ( 1.14815, 0.92593 )
Step 4 : x = ( 0.95062, 0.95062 )
Step 5 : « = ( 0.96708, 1.01646 )
Step 6 : x = ( 1.01097, 1.01097 )
Step 7 : x = ( 1.00732, 0.99634 )
Step 8 : « = ( 0.99756, 0.99756 )
Step 9 : x = ( 0.99837, 1.00081 )
Stepl0 : x = ( 1.00054, 1.00054 )
Stepll : x = ( 1.00036, 0.99982 )
Stepl2 : x = ( 0.99988, 0.99988 )
Stepl3 : « = ( 0.99992, 1.00004 )
Stepld : x = ( 1.00003, 1.00003 )
Stepld : =z = ( 1.00002, 0.99999 )
Stepl6 : x= = ( 0.99999, 0.99999 )
000000 000000000000000 T+3y=4 qpp
_— 3z — 2y =1
Step 0 : x = ( 0.00000, 0.00000 )
Step1: x = ( 4.00000, -0.50000 )
Step 2 : x = ( 5.50000, 5.50000 )
Step 3 : x = ( -12.50000, 7.75000 )
Step 4 : x = ( -19.25000, -19.25000 )
Step 5 : x = ( 61.75000, -29.37500 )
Step 6 : x = ( 92.12500, 92.12500 )
Step 7 : x = ( -272.37500, 137.68750 )
Step 8 : x = ( -409.06250, -409.06250 )
Step 9 : x = ( 1231.18750, -614.09375 )
Stepl0 : =z = ( 1846.28125, 1846.28125 )
Stepll : x = ( -5534.84375, 2768.92188 )
Stepl2 : x = ( -8302.76562, -8302.76562 )
Stepl3 : x = ( 24912.29688, -12454 .64844 )
Stepl4d : x = ( 37367.94531, 37367.94531 )
Stepld : =z = ( -112099.83594, 56051.41797 )
Stepl6 : = = ( -168150.25391, -168150.25391 )
Stepl7 : x = ( 504454.76172, -252225.88086 )
Stepl8 : = = ( 756681 .64258, 756681.64258 )
Stepl9 : x = ( -2270040.92773, 1135021.96387 )
Step20 : x = ( -3405061.89160, -3405061.89160 )
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2. Gauss-Seidel [

Gauss-Seidel 000000 () 00 " 0ooooooooooo 2P 0
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Gauss-Seidel U 0 O 00000 (x) J0000D0O0OO0OOoOoOQg :

1—1 n
xz('kﬂ) = {b,- - Zaz‘ﬂ;‘kﬂ) - Z aij$§k)}/aii o (*)
j=1

j=it+1

000 {3x_%:1 0000

r+3y=4
Jacobi O Gauss-Seidel O
Step 0 : « = ( 0.00000, 0.00000 ) Step 0 : « = ( 0.00000, 0.00000
Step 1 : « = ( 0.33333, 1.33333 ) Step 1 : a = ( 0.33333, 1.22222
Step 2 : x = ( 1.22222, 1.22222 ) Step 2 : x = ( 1.14815, 0.95062
Step 3 : « = ( 1.14815, 0.92593 ) Step 3 : x = ( 0.96708, 1.01097
Step 4 : x = ( 0.95062, 0.95062 ) Step 4 : x = ( 1.00732, 0.99756
Step 5 : « = ( 0.96708, 1.01646 ) Step 5 : « = ( 0.99837, 1.00054
Step 6 : « = ( 1.01097, 1.01097 ) Step 6 : x = ( 1.00036, 0.99988
Step 7 : x = ( 1.00732, 0.99634 ) Step 7 : « = ( 0.99992, 1.00003
Step 8 : « = ( 0.99756, 0.99756 ) Step 8 : « = ( 1.00002, 0.99999
Step 9 : « = ( 0.99837, 1.00081 ) Step 9 : « = ( 1.00000, 1.00000
Step10 : « = ( 1.00054, 1.00054 )
Step1l : « = ( 1.00036, 0.99982 )
Stepl2 : x = ( 0.99988, 0.99988 )
Step13 : x = ( 0.99992, 1.00004 )
Stepl4 : a = ( 1.00003, 1.00003 )
Stepls : « = ( 1.00002, 0.99999 )
Stepl6 : « = ( 0.99999, 0.99999 )

UO0B 00 ADOODOOOODOO Gauss-SeidelDODOODOOO

0 JacobiDOOOOOO H=(hy;) DOO0D0O0O0000O00 Gauss-Seidel O
O r000000k+1000000O00DO0ODOODO

W —e=(e), V== (f)
0000 Gauss-Seidel OO ¢ O 00O
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Qi X; = bl — E @ijxj - E aijxj
j<i j>i

gbooob 00000

QT = b — Y ayx; — D ai;1;

J<i J>i
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